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That it is standing in a swamp — DAN2 RRMPT

OVERVIEW

The X3 explained! that a X receives the entire benefit (even though he has to
feed the animal), because there are cases where the animal is in an 2R, where the
X need not feed it, therefore it is 2w nX37 22, It would seem perhaps that in a
case where it is not 17w 7837 92, the PX1W may not be 1°013%2 2. Our MdOIN rejects
this notion.
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The X723 did not mean to say that in a case where the "X feeds her, so that the
benefit is not all for the X, so in such a case, the "X would be 21w from

T°O1K; this is not so, for a PX is always 901182 29917 even if Y2w 7837 20 X -
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Rather this is what the X123 is saying, even by a ®XW in a case where 1817 2

ow, for instance when it is 2382 X»»p, the "X still only pays the 397 (but not
TY2WA K90D).

SUMMARY
When the X713 answered 0ak2 8n*p7 it was not limiting the liability of a PRw; it
was only pointing out the strictness of 712w X2 1P over 7¥12WwW2 X779,

THINKING IT OVER
Did '01n mean (in the X"7) that he should be 75 from PoNK and X™32 27, or did
Moo1n mean that he should be 75 even from ™3 (like a 90w according to 1n'"7)?

! The X7n3 proves from a HXW that paying the 779 (without requiring a 7v12w), is a stricter verdict than having to pay
993 (with a 7312w). We see that from a 7Xw, who should be the most liable of all the o* W (since 2w 7817 93), that
the rule is that he pays the (7312w X72) 177 but not the (7v12w3) 993. The X3 challenges this proof; how can you say
that a PR is 12w 1X17 73, but the X1 needs to feed the animal (so it is not 17w 7837 92). The X3 answers that by a
SR it can be Yow 1R 92 if it is DR R7p.

2 It may seem that the X723 is saying that the strictest ruling (7312w 892 17p) is meted out (only) to the most liable
I, the R, since 2w R37 2 (in a case where 0aR2 &n>>p). Therefore we may assume that if he is not that liable
(where 2w 1X377 95 X for he has to feed her), the X would not be Po1Ra 211, This, N0 says, is not so.

3 The X3 is not discussing 2XW per se; rather the X723 is only interested to prove that 7312w K72 17p is stricter than
7y1awa X292, This is accomplished by showing that the most liable W, the PXW where 2w 7837 92, pays X722 1P
my12w, but not 7¥1Aw3a R,
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